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PROBABILITY 

EXAMPLE 1: Finding a Sample Space and Using It to Compute Simple Probabilities 

Suppose we roll one fair 6-sided die with one hand and flip a fair 2-sided coin with the other hand. 

An example of a simple event that might result from this procedure is getting a 6 on the die paired with heads 
on the coin. 

Another example of a simple event is getting a 5 on the die paired with tails on the coin. 

For the complete sample space we must pair every outcome from the roll of the die with every outcome from 
the coin flip. Let H represent heads and let T represent tails. The complete sample space is 
{1-H, 1-T, 2-H, 2-T, 3-H, 3-T, 4-H, 4-T, 5-H, 5-T, 6-H, 6-T} 

Use this sample space to compute the 
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: 

EXAMPLE 2: Computing Probability from a Contingency Table 

In a survey of a recent Statistics class at a commuter college in Florida, students were asked if they owned their 
own home, 
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EXAMPLE 3: Computing Probability for at Least One 

The probability of an automatic window button working on a five-year–old Ford car is 0.984. A student owns a 
five-year


	EXAMPLE 1: Finding a Sample Space and Using It to Compute Simple Probabilities
	EXAMPLE 2: Computing Probability from a Contingency Table
	EXAMPLE 3: Computing Probability for at Least One
	EXAMPLE 4: Counting and Probability




Accessibility Report





		Filename:ap_/t>F

		Pobatility .df-_/t>





		



		Feport< creted by ap_/t>F

		_/t>

FOrganizationap_/t>F

		_/t>



[Eter; personal and organization information thoungh the Prefereness > Idntety Rdialog.]

Sumargy/h12

The checkr; fund-not pobalems inthis fdocumnte.



Needsmarnual check 0;
Passd barnualy: V2
Falen barnualy: V;
Skipped 5p
Passd  V25
Falen  V;


ADocumnte/h13>_/td>_/ar>
Rue {Nme:_/ah>Status_/ah>Description_/ah>
		_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#Perms"Accessibility Rpermisibon flag_/td>_td>Passd _/td>_td>ccessibility Rpermisibon flag must e Aet=_/td>_/ar>


		_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#ImageOnlyPDF">Image-only PDF_/td>_td>Passd _/td>_td>Documnte s fot eimage-only PDF_/ar>


		_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#TaggedPDF">Tagged PDF_/td>_td>Passd _/td>_td>Documnte s ftagged PDF_/ar>


		_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#LogicalRO">Logicalbepaing: Oder:_/td>_td>Passd barnualy:_/td>_td>Documnte structure pobvidss a logicalbrpaing: oder:_/ar>


		_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#PrimeLng=">Primrgylang=uage_/td>_td>Passd _/td>_td>Txt-lang=uage s fspecifid _/td>_/ar>


		_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#DocTtle  >Ttle _/td>_td>Passd _/td>_td>Documnte itle {s fshowng: inthtle {ba:_/ar>


		_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#Bookmrgks"ABookmrgks_/td>_td>Passd _/td>_td>Bookmrgks are poesnte snlanrge documntes_/ar>


		_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#Clor:Cnt-rast">Clor:conterast_/td>_td>Passd barnualy:_/td>_td>Documnte has appobprited clor:conterast_/ar>
Tagged cntent=/ha>_/td>_td>Passd _/td>_td>cll page cntent= s ftagged_/ar>


		_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#TaggedAnot s">Tagged anot ations_/td>_td>Passd _/td>_td>cll anot ations are tagged_/ar>


		_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#TabOder:">Tab oder:_/td>_td>Passd _/td>_td>Tab oder: s fcntsst-nt= wih {structure oder:_/ar>


		_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#CarsEnc">Carsacer; eneoing:_/td>_td>Passd _/td>_td>Relible {carsacer; eneoing: s fpobvidsd_/ar>


		_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#Multimedia">Tagged multimedia_/td>_td>Passd _/td>_td>cll multimedia objects are tagged_/ar>


		_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#Flickr;Rted">Screen flickr;_/td>_td>Passd _/td>_td>Page will ot ecaus Aecreen flickr;_/ar>


		_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#Scripts">Scripts_/td>_td>Passd _/td>_td>No snacessibil Aecripts_/ar>


		_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#TimedRespntses">Timedbrpspntses_/td>_td>Passd _/td>_td>Page doe fot erequire timedbrpspntses_/ar>


		_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#NavLinks"ANavigation links_/td>_td>Passd _/td>_td>Navigation links are ot erepeitlive_/ar>
Tagged form fields_/td>_td>Passd _/td>_td>cll form fields are tagged_/ar>


		_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#FormFieldNme:s">Field descriptions_/td>_td>Passd _/td>_td>cll form fields have description_/ar>
Figures aler;nted txt-/ha>_/td>_td>Passd _/td>_td>Figures require aler;nted txt-/htd>_/ar>


		_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#Net-ndAleTxt-">Net-nd aler;nted txt-/ha>_/td>_td>Passd _/td>_td>=con lret 11_aceemrls>=coy>
L>_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#Net-ndAleTxt-">Net-nd aler;droi">Nerhlgagur>d oder:>_td>Passd _/td>_td>cll page cntent= mrls>=coy>
d oder:some:>_td>Pass>_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#Net-ndAleTxt-">NeHiddenanot ">Hrpaingtagged_td>cll page cntent= mrls>=coy>
hrpangtagged_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#Net-ndAleTxt-">NeOther aler;nteOther ele
_/td>_td>Passd _/td>_td>Skipppage cntentOther ele
_/ar>


		_a href="http:  conlspan="3 >AAler;nted Txt-/Teneo>
Rue {Nme:_/ah>Status_/ah>Description_/ah>
		_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#TaggedFormFields"neoRowptiRowpssd _/td>_td>Tab oder: s fcntRsmust fliaingi
< TFooass>_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#Net-ndAleTxt-">NeTHTDielHngtd TDssd _/td>_td>Tab oder: s fcntHngtd TDsmust flingi

		_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#TabOder:">Tab oderleHl{"erptiHl{"erpssd _/td>_td>Skipppage cntentTeneo>s {bu_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#TabOder:">Tab oRegularTeneotiRegularTabssd _/td>_td>Tab oder: s fcntsseo>smust >_tdain/rl/artus number of 3>Aumtd>in/each rowngtd rowd>in/each 3>Aumt>

		_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#TabOder:">Tab oderleSummarytd>ummaryssd _/td>_td>Skipppage cntentTeneo>smust n_a href="http:  conlspan="3 >AAler;nted Txt-/Luct>
Rue {Nme:_/ah>Status_/ah>Description_/ah>
		_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#TaggedFormFieldLuctItemptiLuct itempssd _/td>_td>Skipppage cntentLIsmust fliaingi

		_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#TabOder:">Tab oLblLBodytiLblngtd LBodyssd _/td>_td>Tab oder: s fcnLblngtd LBodysmust flingi_a href="http:  conlspan="3 >AAler;nted Txt-/Hl{"ing>
Rue {Nme:_/ah>Status_/ah>Description_/ah>
		_a href="http://www.aobe .com/go/arobat 11_acessibility _checkr;_en#TaggedFormFieldHl{"ing>Nerpproprgur>ecrstingssd _/td>_td>Skipppage cntentrpproprgur>ecrstingssdh>Rue {Nme/teneo{Nmeh {Nmewww.aobe#_/aortTop">Back to Topssd Nme/body Nme/html Nm



















